

$$f(x,y) = e^{-xy}\cos(x+y)$$

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 のへぐ



$$f(x,y) = e^{-xy} \cos(x+y)$$

SOLUTION: f is continuous at the origin. The limit is f(0,0) = 1.

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 三臣 - のへで



$$f(x,y) = \ln\left(\frac{1+y^2}{x^2+xy}\right)$$

< □ > < □ > < □ > < □ > < □ > < □ > = □



$$f(x,y) = \ln\left(\frac{1+y^2}{x^2+xy}\right)$$

SOLUTION: f is continuous at (1,0). The limit is  $f(1,0) = \ln(1) = 0$ .

◆□▶ ◆□▶ ◆三▶ ◆三▶ 三三 のへぐ

$$f(x,y) = \frac{x^2 + \sin^2(y)}{2x^2 + y^2}$$

ヘロン ヘロン ヘビン ヘビン



$$f(x,y) = \frac{x^2 + \sin^2(y)}{2x^2 + y^2}$$

SOLUTION: Limit along x = 0:

$$\lim_{(x,y)\to(0,0)}\left(\frac{\sin(y)}{y}\right)^2 =$$

・ロト ・聞ト ・ヨト ・ヨト



$$f(x,y) = \frac{x^2 + \sin^2(y)}{2x^2 + y^2}$$

SOLUTION: Limit along x = 0:

$$\lim_{(x,y)\to(0,0)} \left(\frac{\sin(y)}{y}\right)^2 = 1$$

・ロト ・聞ト ・ヨト ・ヨト



$$f(x,y) = \frac{x^2 + \sin^2(y)}{2x^2 + y^2}$$

SOLUTION: Limit along x = 0:

$$\lim_{(x,y)\to(0,0)}\left(\frac{\sin(y)}{y}\right)^2=1$$

Limit along y = 0:

$$\lim_{(x,y)\to(0,0)}\left(\frac{x^2}{2x^2}\right) =$$

・ロト ・個ト ・モト ・モト

- 2



$$f(x,y) = \frac{x^2 + \sin^2(y)}{2x^2 + y^2}$$

SOLUTION: Limit along x = 0:

$$\lim_{(x,y)\to(0,0)} \left(\frac{\sin(y)}{y}\right)^2 = 1$$

Limit along y = 0:

$$\lim_{(x,y)\to(0,0)} \left(\frac{x^2}{2x^2}\right) = \frac{1}{2}$$

The limit DNE at the origin.

(日) (個) (目) (目) (目) (目)



$$f(x,y) = \frac{6x^3y}{2x^4 + y^4}$$

・ロト ・聞ト ・ヨト ・ヨト



$$f(x,y) = \frac{6x^3y}{2x^4 + y^4}$$

SOLUTION: Limit along y = x:

$$\lim_{(x,y)\to(0,0)}\left(\frac{6x^4}{2x^4+x^4}\right) =$$



$$f(x,y) = \frac{6x^3y}{2x^4 + y^4}$$

SOLUTION: Limit along y = x:

$$\lim_{(x,y)\to(0,0)} \left(\frac{6x^4}{2x^4 + x^4}\right) = 2$$



$$f(x,y) = \frac{6x^3y}{2x^4 + y^4}$$

SOLUTION: Limit along y = x:

$$\lim_{(x,y)\to(0,0)} \left(\frac{6x^4}{2x^4 + x^4}\right) = 2$$

Limit along y = -x:

$$\lim_{(x,y)\to(0,0)} \left(\frac{-6x^4}{2x^4 + x^4}\right) =$$

▲□▶ ▲圖▶ ▲臣▶ ▲臣▶ ―臣 … のへで



$$f(x,y) = \frac{6x^3y}{2x^4 + y^4}$$

SOLUTION: Limit along y = x:

$$\lim_{(x,y)\to(0,0)} \left(\frac{6x^4}{2x^4 + x^4}\right) = 2$$

Limit along y = -x:

$$\lim_{(x,y)\to(0,0)} \left(\frac{-6x^4}{2x^4 + x^4}\right) = -2$$

The limit DNE at the origin.





$$f(x,y) = \frac{x^4 - y^4}{x^2 + y^2}$$

・ロト ・ 日 ・ ・ 日 ・ ・ 日 ・



$$f(x,y) = \frac{x^4 - y^4}{x^2 + y^2}$$

SOLUTION: The numerator can be factored

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 の�?



$$f(x,y) = \frac{x^4 - y^4}{x^2 + y^2}$$

SOLUTION: The numerator can be factored

$$\frac{(x^2+y^2)(x^2-y^2)}{x^2+y^2} = x^2 - y^2$$

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 の�?



$$f(x,y) = \frac{x^4 - y^4}{x^2 + y^2}$$

SOLUTION: The numerator can be factored

$$\frac{(x^2+y^2)(x^2-y^2)}{x^2+y^2} = x^2 - y^2$$

◆□▶ ◆□▶ ◆三▶ ◆三▶ 三三 のへぐ

so the limit is zero.



$$f(x,y) = \frac{x^2 \sin^2(y)}{x^2 + 2y^2}$$

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 のへぐ



$$f(x,y) = \frac{x^2 \sin^2(y)}{x^2 + 2y^2}$$

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 のへぐ

SOLUTION:



$$f(x,y) = \frac{x^2 \sin^2(y)}{x^2 + 2y^2}$$

## SOLUTION: Squeeze it!

$$0 \le \frac{x^2 \sin^2(y)}{x^2 + 2y^2} \le \frac{x^2}{x^2 + 2y^2} \le x^2$$

◆□▶ ◆□▶ ◆三▶ ◆三▶ 三三 のへぐ

By the Squeeze Theorem, the limit is zero.

